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PART -1/ Wy
CHILD DEVELOPMENT AND PEDAGOGY / e famma = Fomer v

Direetions ; Answer the following Questions

(@ Nos. 1 to 30) by selecting the ozt

appropriate opiions.

1. To understand individual differences
in development it is importent

(1) to look & the envirommental
factors that affect individuals.

(2}  toconsider maturation of the body
and the brain.

(3) to consider both inherted
characteristics as well &4
environmental factors end their
interplay.

f4) o look a the inherited
characteristics thar give each
person & specinl start in life,

2, Which of the following i= not a
principle of development ?
(L)  Development is relatively orderly.
(2) Development takes place
gradually over a period of time.
(3) BExact course and nature of
development is determined at the
time of hirth itself.
(4) Individuals develop af different
rEtes.
3. Several research studies show that
teachers have more overall interaction
with boys than girls. What Is the
correct explanation for this ?
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7.

What instructional ndaptations should o

teachér make while working with

students who are ‘Visually Challenged® 7

(1) Use a vardety of visua)
presentations.

(2}  Orient herself so that the studenty
can watch her closely,

{3} Focus on o variety of written msks
especially worksheets.

{4) Speak clearly and use o lot of
totich and feel muterials.

Co-operative learning and  peer-
tutoring in un inclusive
clasaroom.

(1) shouldbe actively discournged
{2} should be occasionally used
(3)  should not be used

(4) should be actively promoted

Which of the following s most
important in an Inclusive classroom 7
(1) Swndardized testing

(2} Promoting competitive leaming
(3) Individualized education plan

(4) Uniform instruction

Which of the following Is a correctly

matched puir of learners and their

(1} ‘Dyslexic’ learners — Lack reading
‘and writing fluency

(3
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10. Which of the following would 1ot be

consisteni  with @ constructivist

environment ?

(1)  Students work collaborutively and
are given support to engage in
task-aricnted dinlogue with each
other,

(2) Teachers elicit students’ ideas and
experiences in relationship to key
topics and plant teaching-leaming
to elaborate or restructure their
current knowledge.

(3) Teachers employ specific end of
the term assessment strategies and
give feedback on products rather
than processes,

(4) Students are pgiven frequent
opporfunities o engage
complex, meaningful, problem-
based activities.

A teacher should encourage students
to set riather than

(1) performance goals: leamning goals
() failure avoiding goals; marks
seeking goals

(4)
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‘Which of these Is an example of
extrinsic motivation ?
{1 “Ihmnmm:hwhen]dnmy

homework."

“Doing homework makes me

underitand my concepts better ™

(30 “I complete my homework
because the teacher gives us marks
for each assignment.”

“l enjoy doing my homework
because it i5 50 much fun.”

(2)

)

In a primary cdassroom a teacher
should

(1)  give only non-examples

(2) pgive both examples and ron-
sxamples

not give any examples and non-
egxamples

give only examples

(3
(4)
Which of the following strategies

would promote mcaning-making in
children 7

(1) Transmission of information

(2) Using punitive measures

.'l_',!} Huiﬁumudmdimlmtml

(5)
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17. In the constructivist frame cBMd .
viewed as :
() Crabule ruse' OF ‘plank S14tC

o

3

(4)

whose lfe is shaped eniircly Y
experience.

4 ‘passive being’ who cn be
ihlpﬁd'-“ﬂ molded into any form
a ‘problem solver’ amd B
*scientific investigator’,
*miniature adult’ who is less than
adult in all aspects such as EiZe,
cognition, emotions.

18. A teacher's role while using co-
' operative learning In her class -

{1}

is to leave the class und let
children work on their own.

(2) s to be supportive and moaitor

each group.

(3} s to support the group which has

the ‘bright' snd ‘mlented’
ik

(4) s to be o silent spectnor md let

‘children do what they want.
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20.

According to  Pisget,  specific
psychological structures (organized
ways of making sense of experience)
ure called

(13 schemes

(2) images

(3) mental maps
(4}  mental tools

“With an appropriate question /
suggestion, the child’s understanding
can be extended far beyond the point
which she coold bave reached alone™
Which constrect does the above

statement highlight ?
(1}  Equilibration

(2) Conservation

(3) [Intelligence

(4) Zone of proximal development

According to Lev Vygotsky, basic mental
capacities are transformed into higher

(1) social interaction

(2)  stimulus-response association

"

1.

¥ 2

20.
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One of the major sccomplishments of
concrete operational stage is

(1} Ability to conserve

(2)  Hypothetic - deductive reasaning
(3)  Secondary circulsr reactions

(4)  Animistic thinking

Comstructivists such os Jean Piaget

and Lev Vygotsky view learning as

(1) conditioning of responaes

(2) pessive repetitive process

{(3) process of meaning-making by
active engagement

(4} =cquisition of skills

Selecting and presenting stories and

clippings from newspaper that poriray
both men amnd women o pon-
traditional roles i an  effective

strategy to
{1} promote gender constancy

(2) encourage sicreotypical gender
roles

(3) counter gender sierzolypes
(4)  promote gender biss

Read the following description and
of Kahlberg,

(8
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As per Howard Gardner's theory of
multiple Intelligence, how would the
Intelligence of 8 person with ihe
following characteristics be
categorized 7

Characteristics ;

“Ability to detect and respond
appropristely 10 the maods,
iempeun:nh. mativations and,
intentions of others.®

{1} Intrapersonal
(2)  Interpersonal
{3)  Therspeutic
(4) Nawralistic

Which of the following should be the
reasons for assessment of children ?

() To separate and label children
into  ‘non-achievers’, ‘low-
achievers’, ‘average’ and 'high-
achievers'.

(iiy To improve teaching-learning
processes in the classroom.

(iii) To MAnd out what changes and
progress in learning that takes
place in the child over a period

of time.

(i) To discuss the capabilities,
potential, strengihs  and
hallenging areas of the child
with the parents,

(1) A5, (ad) (i)
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IMPORTANT : Candidates have o do guestions
il 1o m&mﬁmm*m’w‘,
and Science) OR from Part - 11 (Soclal Studies
Social Science).

e
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(T & ar wrr - Ml pizsstn
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PART -IL/ W . 11
MATHEMATICS AND SCIENCE / Tifore & farem

Directions : Answer the following questions by & Freafofm vt & Im & ¥ o
selecting the carrect/most appropriate oprions. 7HY T I e g
31. The total surface area of a cuboid s 31, Tt T gt PR dwe 194 m
194 m’. If its length is & m and ilﬂﬁﬂﬂ'ﬁﬂﬂmmmﬁmt.
breadth is 6 m, then what is its volume E— {Tﬂ;#lt
(in m?) ?
(1) 126 () 136
{2) 168 (1) 168
(3) 224 & 224
4 112 4 112
32. The of a trapedum is 105 cm? 32, MWHMM@E‘HJHI
ﬂdi.t:“hﬂshthfmﬂmﬂfﬂw mrﬂiﬁi?mtlﬂ&mgﬂﬂ;
ﬁﬂﬂdnldmhluui:rlhm!hruther ﬁﬂﬂﬁ@@ﬂﬁﬁmmﬁﬁ
E:;nmﬂmhnghulﬂulm ﬁ‘ﬂiﬂﬂmﬂf'&‘i‘lﬁ.mﬁ.t
(1 16 (1) 16
@ 15 E @ 15
(H 12 3} %
(4 18 4) 18
The curved sorface area of a right 3a. m*3mh““ﬁ‘w
= - cylinder of base radius 3 cm oW W W R GeE 942 om® ¥
2 co?, The volume (in cmr’) of the A T AR (em® W ¥ (x = 314
i |
(1) 1413

@) 1256
3) 11304
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34, [fxis added to each of 14, 12, 34 gnd
30, the numbers so obfained, in this
order, are in proportion. What is the

value of /12x + 9 7
(1 9

@ 1l

3 13

4y B

‘Which one of the following statements
is troe 7

i1} A regular polygon of 10 sides has
10 lines of symmetry.

A circle has no line of symmaetry.
An  angle has
SYImetry .

A regular hexagon has only 4
lines of symmetry.

(2)
(3

two lines of

(4)

The value of x which satisfies the
equation

10{x + 6) + B{x — 3) = 5(5x - 4)

also satisfies the equation
3{31—-5}=1‘!:.+1

Fx+ B =5x—35)+4
5(x—5)=2x=3)*+3
5’_;5-—3}=.t+5

from

(1)
(2)
(3)
“)

(11)

% aft 14, 12, 34 791 30, ¥ & « ihn
mﬁnmmmi}mm
woree # 8@t ¥ | 12 + 9\ w AW
wrm e
(n 9
@ 1
(3 13
4 8

et PR mEmh?

(1) 10 49 T UF FEHE
Tt T B |

o g9 1 = wwiE T A
gl

e w5 21w temd weh E )
T AYSENA % A 9 S6H

tamd et

x T W AT wHE

10(x + 6) + B{x = 3) = 5(5x - 4)

= war = § w8 e i =
gt

(0 Ax=NN=2=+1

(2) 2Ax+3)=5(x-5+4

(3) Sx=-5=2ux-3)+3

4] Sx-HN=x+3

1y - 16y + Ta W ¥ &
Sy — 13x — B 7 & 0 wEET WiEe
(13 Ay =dc-a

(2}

(3
{4
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38. Wﬂhﬂhhhwlqwﬂh

correct regarding children coming (0
school from rurul areas in the context
of Mathematics ?

(1) They may have rch oral
mathematical  traditions  and
knowledge.

(2) They do not
mathemntics.

(3} They have poor communication
skills in mathematics.

(4) Thay need not learn formal

mathematics as it is of no use o
them.

kpow  any

Read the following statements :

A. Axioms are propositions which
mre assumedd.

Axioms are special theorems.
Axioms are definitions.
Axioms, when proved becomes
theorems.
Which of the following statement(s) Is
carrect ? .

(1) AandD

OulyB

g0

{12)

-1l
W, i i s, ol et @ Ferwren

9.
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(4) They should be overfooked,

Which of the following statement(s)
regarding Mathematics is true ?

A:  Mathematics is n tool

B. Mathematics is a Form of art.
C.  Mathematics Is a language,
() B&C

(2) only A

3 AR&C

@) A&B

. To prove that /2 i an irrational
m-lh&rhﬁﬁhﬂlﬂﬂlﬂl
that it iz & rational member and then
proceeds 1o show how this assumption
s not feasible. This is an example of
proof by
(1) Deduction
!'@"r w

13
40,

41.
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Which of the following statements
rellocts n  desivable assessment
practice In the context of mathemaiics
learning ?

(1)  Holding conversations and one ©
one discussion with children can
als0 be helpful in assessing them.

(Z)  Assessment should be prodoct
oriented and focus on the right
answer of the child.

(3} Iocorrect amswers of children
“should largely be ignored because
we need 1o focus on children's
strengths.

(#)  Only paper-penctl (asks are suited
10 assess students becanse they
Tequite precise answers,

Which of the fallowing statements is
true of learning muthematics ?
(1)  Girls need extra nttention because

(14)

P11
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language.

explain himMer word problem in
explain concept of equality vsing
‘alternate method.

give Imnf practise questions onl
transposition of numbers.

Contemporary  understanding  of
Mathematics Pedngogy encourages
to do all of the following,

(#]

except :

(1) Introduce  computation  of
~problems before development of

{2) Create opportunities for smdents
to guess-and-verify the solutions
to problems.

(3) Develop the skill of systematic

- reasoning in students.

(15)

B
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48.  The value of

[(=d) « 2] % (-3) - (-3) [(=3) X (-7) -8l
+(4) [(~48) + 6]

is
(-1
(2) 13
(3 o
) B9

The nﬁhﬂﬁﬂﬂm'%ghéﬁi %% and %% are

written in descending order as
[ 22ABa
M 25353849
44 22 33 24
@ 3935 329
44332422
@ 93w 2925
243320
@) 35352549

Which one of the following statements
is not true for integers 7

(1) Division i3 gommutative,

(16)

[(=4) + 2] % (~3) = £-3) [(-3) x (7) _';]"
+ (4) [{—48) + 6]

A &

(1) =11

2y 13

(3) -6

4) 9

B BlE 88 g
Sik BN wR Sk

o=t ot 1 & i a1 e o & o
wr i kY

(1} v et |
(2) 1P e R

(3) = e e |
4) TEEESE AR |

= e
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51, Wx=2Px¥xFx7
y=PBxPxs %7 and
=P xS T,
then H.C.F. of x, y and z is
M 087
@ EoPxr
(3 30x7’
) (30Px7?

1652272 = p*sca® e o,

where p, q and r are prime numbers,
then the value of (2p + q - r) i

() 22
@ 23
(3 29
4 21

If the 7-digit number 134x38y is

divisible by 72, then the value of

\&7)

52,

qﬁ__ rax¥usx?
y=3x¥F x5 =7, W0
z2=2' %3 x5k

ey 3f¥ 2 &1 TETH A §

(1 (5P =7

() (0P=T

(3] 30 x 7

(4) GO0Fx7

TR 822 =pt g’ x

@l p, q 3R r Iw= FE €, @
-[ilp+q-r:lﬂ"ll'l=lt

{1y 22

(2 23

(3 29

4 21

Afg 7-3i ael S 13458y, 72 @
s, 2+ y) TARR

m 7
(21 8
(3) 9
(4) 6
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Whith of the following is 0ot &
Pythagorean triplet 7
(1) & 15,17
2] 11,6063
{3} 13.B4,85
4y 7,24,25

The measure of an angle for which the
measure of the supplement Is four

times the measure of the complement
is

(1) 45°
(2)  60°
(3 75
(4) 37

If the angles, in degrees, of a triangle
are ¥, 3r + 20 and ax, the triangle
must be

(1) Acuots
(2) Right
{3) Isosceles
{4) Obtose

In triangles ARC and DEF, £C = £F,
AC=DF,and BC=EF.FAB=2x -1
and DE = 5x - 4, then the value of x is

EIJE

(18)

ey e g o T B 2

(1} 815,17
(2) 11,60,63
(3) 13,84, 85
(4)y 7,24,25

3% Wi 7 0, Firess EEEH AN R
F o AN H =W W*m L ]
®:

(1) 45

() &60°

(3 75

(4) 30°

ofy et Boge 3 =t w1 A, 5
A + 20 701 6 %, @ FogE FEm #
A -

(1y =R

@) e

(3) GwigETg e

(4)  witeRmr B

figs ABC 3w DEF &, 2C = 7,
AC=DF3BC=EFR 7R
AB=2¢ - 1T DE =5x -4 %, Mx W
LICh

1y 2
(3 3
(3 4
tﬂ 1
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red?

One side of a triangle &5 5 cm and the
pther side is 10 cm and its perimeter s
P em, where P s an integer, The least

and the greatest possible values of p

ure respectively
(1) 20und 2%
(2) 2land29
(3) Wand 27
(4)  19and 29

Let x be the median of the dats
13, 8, 15, 14, 17, 9, 14, 16, 13, 17, 14,
15, 16, 15, 14

Il'% is replaced by 18, then the median
of the data is y. What is the sum of the
values of x and y 7

(1} 28
@
(3) 30
4y 27

A bag contains 3 white, 2 blue and §
red balis. Ome ball Is drawn a6t
random from the bag. What is the
probability that the ball drawn Is not

(19)
58.

g

X
e P 1 U W0 S cm T
4 10 em #, 3 vES TG P em &,

vt poum s B (P % =g sl
syfitrman v o wa: §

(1) 20328
(2) 21829
(3} 223727
(4) 19¥M29

arr B afesgl 19, 8, 15, 14, 17, 9, 14,
16, 13, 17, 14, 15, 16, 15, 14 %7 970® =
& | ot 8 % =W w18 W fen o,
ferEl ) AT y & | TR y W W W
Ak
{1 28
(2) 29
(3) 30
4

Reeft @2t F 3wz, 2 feht ol 5 =
¥ o9 & 2 e s T Pt ot
8 | Frered wd g v on o ff R, vy
T i R e
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Directions : Answer the following questions by
selecting the correct/most appropriate QpHon:.

61. Which of the following nutrients are
present in milk ?
(1) Protein, Vitamin C, Vitamin A
(2)  Carbohydeates, Yirmin C, fron
(3}  Protein, lron, Vitamin D
{4)  Prodein, Calciom, Vitamin D

62, The non-metsl used in the purple
coloured solution applied on wounds
as antiseptic =
(1) lodine
(2) Bromine
{3 Sulphur
(4) Chlorine

3. Which of the following stntrments
regarding “Alr’ is incorrect 7
(1) Airis not present insoil,
{2} Air plays important role in water
cycle.
(3)  Airoccupies space.
(43  Air has weight.

64, Which of the following represents
correct matching of the organs of
digestive system in Column A with the
function in Column B ?

Column B

(20)

e e e e ——

Pl
B Brfofen wei & oW & @ o
¥ /et Ty fawe 170 ¢

b1. @ﬁﬁﬁﬁlﬁﬂﬁﬁmﬁﬁ?
(1 ity Rrefr-c, A
() wiEsge, fEf-C, S (FE)
(31 s, s (o), PaiE-D
(4] ﬁﬂﬁi.#ﬁw.ﬁ_ﬂﬁﬁ'ﬂ

62, (i) & 0 § "l W
ﬂmﬁiﬂhﬂﬁimﬁw
#t avTg Wt & 7
(1} amEEH
(2y @i
(3) F
(4) wANH

63, = & wau § 2 fgn v wF W wE
o T 7
(1) He i aw IufeE = w |
(2) o = H AT AR qihe
Bl ¢ |
(3) =TT
(4) =RH WA S |

64, =H A # Tiu e wme A9 % an 3R

™ B 1 fan mo e =l = A= B
ook Rt ik R
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Which of the following statement
aboul cells is true ?

(1) Cells of & tssue have similar
Structure.

(2) Size of cells i same in o well
argiunized ofganism

(3y  All the cells hove nuclous,
4y All cells are round in shepe.

Which of the following are correctly
matched with thelr mode of
reproduction 7

A B
n Yeast i.  wvegetative

propagation

bh. Potato il. spore farmation
¢ Algae i, fragmentation
d. Fungi iv. budding

u b ¢ d
(1 moooW v
2y I v hi i
R i Wi
(4) v i TR

Which of the following pollutants are

respansible for depletion of ozone
layer :

(1) Chiorofluoro cacbons
@) Acid rain
" _-.-_. 4 et ba mﬂhﬂﬁﬂ*

(21)

67.

X
shm kAT ey
i fipeht Farer 1 SR BEE B E |
() et wet Wifa ==fem dm §
s w1 AR (HEA) TWE
AR
{3 mmﬂmﬂmh
{4 ﬂmﬁmﬁﬁﬂtl

Freiferfian  fopam of o 6 B @
it firema fEm & 2
A B
a T i, sy
. i, W e
(e 7))
(.5 e lii. =mEF
d, wE® v. THeH
a b [ d
M § i iw

(2} = i iii i
(N i 6 v i
@) v i ili ii

Fr=fafn & 3 o9 =1/8 wgoe AW
W i arves ¥ oy gord &/ 7
(1) TSR S
(21 ety o
it ¥ wnle Tyt

(3
(4) =T srevTeeTes ol WA wE-

-.i..... _-.I._ -L.- ‘I- :
RN LN SLNT oo 1Y
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Which one of the following Is pot true
of the nature of science 7

A.  Science Is always tentative.

B.  Science promotes sceplicism.

C. Science is @ process of
constructling knowledge.

B, Science is static in nuture,

(1’ B

&
3 A
D

Which of the following is/are
developed by Science 7

A.  Equity

B.  Scientific attitude

C. Scientific temper

D. Static mind set

{1 B,CandD

(2) A BendC

(3} CandDd

(4) AandD

(22)

oY,

70.

P-I1
P & & wy v for 1 T &
ded A ke
A Fas g s & |
B Pyn e S A 2 |
oy we e o T TR
D, foryr iy fEc 2 |

(1)
(2)
(3}
(4}

e - s T - -

frfafaa § @ feas foem o &
FuEmE?

4. T

B. =ETHS giEmm
C, miasEwE
D, e s
(1] B,CHID

2) A, BIMC

(3 c=3hD

4 A3IRD




72 As

per  NCF-2008,
education should be

A.  Trueto the learmer

learner

€. Trueto the teacher
D. Truoe to sclence

(1) BandC only

(2) A,BandC

(3) Donly

{4) A,BandD

good  selence

“Conducting a the
awareness of people about sources of
air pollution in learners localities,”

Which of the following cognitive
will be most associated with
the above learning objective having
action verb conducting ?

(1) Understanding

(2) Creating

(3) Applying

) Remembering

Earvey amn

(23)

7.

X
T g 2005 & FER, T e
foygr five
s, olvedame & vfy o o i
B. Hed wE & vaiEm & v s
it =R |
C, Dien 3 st e Bt fie |
D, P vy o=h g =i |
(1} B 30w
(2) A,B3RC
(3) DFaEA
(4)  A,BIRD

g 3 FE B H A AT WEE %
HiE W FewEl W ¥ W OEERE
=

forfrftan 7 & ®9 & Symes S
Fvim e % sive # Yuifen e
‘W W B weR afw weitm
w7

(1) WY |

(2) A

(3)  FETET T |

{4 W |

= L
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75. By which of the following straiegy

76.

meaningful  clarification

on the

concept of reflection of light cn be
given ?
(1)

(2)

(3)

(4)

Chart showing the reflection of
Light

Observing reflection of light on
whitz paper screen by the learners
and drawing conclusions.

Asking closed ended guestions
refated to the concept.

Animaied video on the concepl.

Why are fleld visits important in
science ?

(1)
(2)

(3)

i4)

I is easy 10 conducl
It collects the information of
science.

It develops hahit of hardwork
among learners.

It provides hands on experiences
to the leamers.

Which of the following tool is for
learner centered assessment 7

A.  Paortfolio

B. Concept mapping

€, Paperpencl s

7.

17

(3}

4]

forg 7t e o R} e & 2

i
{2)
(3)

4)

T ST S R
218 frsrr 1 T A Sl B |

o TrEs e | AEA0 B e W
o SR |

I A9 T H w0 % e
e e A

P B 9 W EOA w1 R AT
wRmde

A,
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Amrita Is trying 1o set-up an electric
circuit, She runs shorl of connecting
wires. Which of the following

materials can she use lo complete the
circuit 7

(1) steel wire
(2) plassrod
(3} rubber pipe
(41  thick thread

Identify the correct statement.

(1) A concave mirror forms dn erect
as well 'as inverted image,

(23 A convex mirror always forms an
inverted image.

(3) A convex mirror forms erect as
well as inverted image.

(4) A concave mirror plways forms an
erect Image.

Which of the following acids is found
lnm'min:?

{25)

79,

ﬁwmmmﬁm
mm‘tﬁlt | W 9T Sl e §
e wn T § | oftow W 90 w6 #
forg ag = faw e el # 2 fee v
T o o R 7

(1 #EEsm
(2) WEFE
(3) TR H Y
(4) W9

w Al EEEY ;

(1) SEm i way st o =
3 Ay o et Wi |

(1 e =9m wes W Iwa i
Coinih 8|

(3) e wdy o wffe @t w2
2o it = £

(4) e i wed #t Hiun e
ik Al

g1, =t i (2= § Grefafam & @ BR

a1 e g R 1
1y I 5T
(2} FRATeTE 30
53] wﬂtﬂum

X
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83, Myra cycles to u friend's house g km

away to deliver a packet. She goes at a
speed of 12 km/hour and retarns at &
speed of § km/h, Her sverage speed
during the whaole trip is-

(1) 9.6 kmh

(2} 10 kmth

(3 Smh

{4) 20km/h

Which of the following sets contains
only the units of measuring distance ?
(1) cubit, year, light year

(2)  cubil, metre, Hpht vear

(3) metre, hertz, cubit

(4)  metre, light year, hertz

Sameer rolls his marble on three
different surfaces spread out on fleor -
taut cellophane sheet, carpet and
néewspaper. The force of (riction
acting on the marble in the increasing
arder is

(1) ‘Mewspaper, Carpet, Cellophane

shest

{2) Cellophane

sheet, Nawspaper,

sheet, 'Carpet,

Cellophane  shesat,

{3) Cellophane

(4) Newspaper,

(26)

{ﬁmmﬂﬂﬁﬂimmm
T & | o B 12 kb, T ¥ A
aret & sftc eled w8 lanvh. =T H
whedi 3 | sed W o 6 Sl

TE R

(1} 96km'h
(2) 10 km/h
(3} 5Smis
(4) 20 km/h

Frefafen § & fem o= ¥ %9 gl
TG AR E 7

(1) nferm, 9, e

(2) wife, e, W

(3) R, g, WA

(4) e, WETE, wa

wefw wre s (ireft) e e i e
fiafore gt (vt — ot g e e,
el S FHTER -0 s f |
W T 9T Y w6 wed @H H 6
W, BT 7

(1)  FHFEIR-99, FEE, G oz
(2) A T, BUTEN-YF, S
(3)  HErEA ¥, e, enEn-
(4) EWTETR-UE, ST v, S
e # | 9 g W X-a0 R Pl

= .



paIx

Which of the following is pot =
byproduct of petroleum ?

(1) Coke

{2) Biumen

(3 Lubricating wil

(4) Paraffin wax

Aman keeps a plastic bottle, 2 wooden
spoon and a metallic spoon in a closed
room overnight. The g1 10i1]
temperature ks 30 °C. In the morning
he records the temperatures of the
three objects as T,, T, and T,, Which

of the following most likely represents
the relation between them 7

(1) Ty>Ty=T,
(@) Ty=Ty<T;
(3) T,>T;>T,
# T=T,=T

Mﬂﬂlfﬂuﬂmwﬂﬂﬂmm

(27)

X

gy, i # @ 9w G W 3

G4 B
(1

2y T
(3) T e
(4) i AT

s Fedl W Wt # o oiem 6

W, U ehel & e 3 W
oy ) TR FTEA R | FW A a0 *C R

qaE ¥ W ¥ T A agei & Aw
wEFm R T, T, T, €
ﬁnmmﬁ%ﬁﬁammnaﬁt
forsan o wad afirs dwraT B wewd

k2

(1) Ty>T, =T,
(2) Ty=Ty<Ty
(3y T,>T,>T,
4) T, =T,=T,

fr=forfian et & & % vem-dremw
BT ST Wy w7

(ly =55

(2) TR
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IMPORTANT : Candidates have 10 d0 | sywpuof . criunfif ot gy dGAT31 790 1
Question Nos. 31 to 90 EITHER from Part - | oy yp 1 e o ey w07 - 11

Il (Mathematics and Science) OK Jrom ; SEE
Part - 1T (Social Studies / Soctal Science). (SRS gy AR FRT

PART - Il / ¥T0T. 1M1
SOCIAL STUDIES / SOCIAL SCIENCE (Rmifas srega= ; myeioT famr)

Directions : Answer the following quéstions by fotw : Faefefae ol & 30 % fom
selecting the correct/most appropriate oplions. A ) e e Cieull
31.  Assertion (A) : It will be 7:30 p.m. In 31, e (A) w wieA H T8 & 200
India, when it is 2:00 p.m. in Lenden, Wik 8, 7y e 1 7:30 SIS 1 G AN |
Reason (R) : India is located east of HTO0 (R) ; W At o g 820 30° Y,
Greenwich at B2°30'E, AfEme
Select the correct option from the m“mﬁﬁmﬁmmm
given nlternatives, e |
(1) (A)is false, but (R) is true. (1) (A)ToT &, T (R) FEI R |
{2) Both (A)and (R) are true and (R) () (A) 3 (R) BT @l & H(R) wEl
is the correct explanation of (A). =TE B (A) R
{3) Both (A)and (R) are true, but (R) (3)  (A) 3 (R) THI @ 8, T (R
is not a correct explanation of {A). A ﬂﬂ? (A &1 |
(4)  (A)is rue, but (R) is false. @) (A) AR, TR R TEE R |
31, Consider the statements A, B, C on time 32, FmER R mMA, B ¥R C TRl W
zone and choose the correct answer : fomm i i wft w7 o e Hifrg
A. Some countries have a greal _
{Emcitdinal dsbact 2 5o they A.  EB B W Aot R sfus
adopted more than cne wren & Fore®s e ol o @ ot
standard time. T A e R |
T H TH-TE W2 A 24 T
&t i wher o |
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3,

Choase the correct Urrangement
atmosphere’s layers beginning n-.,ﬂ.f
carth's surface

(1) ‘Troposphere, Stratosphere,
Mesosphere, Thermosphere,
Exosphere

Exosphere, Stratosphere,
Mesosphere, Tm;:rnsphére,
Thermosphere,

(3) Mesosphere, Troposphere,
Exosphere, Strutosphere,
Thermosphere

Stratosphere, Mesosphere,
Thermosphere, Exosphers,
Troposphere

Seasons occur duoe to which of the
following reasons 7

(1) Tropic of Capricorn receives
direct rays of the sun, falling
verrically at 23'4° 5.
Revolutlon of  the

(2)

(4}

(2) Earth  and

inclination of it axis in the same
direction,

Cirele of illumination caused due to
rotation of the earth sround its axis.
Axis of the Earth mukes an angle
of 66%4° with its orbital planc.

(3]
(4)

(29)
33,

34,

i
!
|

X
qudt ! w8 § I W A R
taﬂmlﬂmﬁh’q
WMHEe, TYRNEER, WONE,
TR SEEe, WiEHe |
sfpdew, TowmOER, wEwEEA,
TV, MR R |
(3) WEEEEW, WTOEES,  ETEIE,
THATIHEE, T ARHE |
TUATIVES,  WSEsE, W
STgrEE, RHEA, BEET |
sl Preaferiew smoit & & Rew = @

aiE ? -
(1) wE W wogd W d R
235" %, WaEAT § |

e = aftwem Hik o @
T AH W T |

geft & 3 HH WA T
S AR AT R |

et @ g w9 W e @
BG4 T TR FTal R |

it % e qudt & TgEEe § W
o o Haew & 7

(1) e SHafTEe

(2

(1}

{4)

(2)

(3)

(%)
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37. The depositional feature of a glacer is

39,

(4) Ox-Bow lakes dot the plain area,

called :

(1) Moriine
(2) Loess
(3) Levees
(4) Sencave

Statements A ond B describe the

features of which of the following

vegetations 7

A. This vegetation is found in the
higher latitudes (50° - 70°) of
Northern Hemisphere,

B. Itisalsocalled as Toigo.

{1} Temperate Deciduous Forests,

(2}  Coniferous Forests

(3) Mediterranean Vegetation,

(4) Temperate Grasslands.

Which of the following is pot a feature
of the Ganga-Brahmaputra Basin 7
{1} The density of population of plain
 arenls very high.
(Z) 'The delta srea is covered with
Mangrove forests,
(3) Slash and Bum agnculiure

practiced in this area for land

cultivation.

(300

3. e & P A A E

(1) fisira
(1) weE
(3) Ay

(4) FEATH

8w A sl B Frefeten st ¥ @
i) Favderadt a1 wof 0 € 7

A A sl Iwd iemd & 3=
syt (50°-70°) & qré e & |

g, gdmEmma A am el |
(13 i g =
(2) A EA

(3)  STEEITE S
(4)  fterren TR
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